Score Score
Angwer any five questions from 1 to i, 1 zgmh £ cusmangs T it apmmelage

Each carries two scores. (52510} | 5 ageporior pamnac syme, 2 wirgad euflms,
(Sx2=10)
1. a) Nuuonal Statistics Day is celebraied L a) eacie mocsy eodima LN P

i () e 1]
i) Tupe 19 1y June 24 1) g |4 i) mysmh 29

iz} July 29 ivl June | i) myane 29 i) myert 1

B} The Indian Sttistical Instituie is bY grmyck guodinienst my

siiatedin (1) a1y

a) Pune by Bangaluru a) g

c} Kolkata Ay Chennai ¢) Semzdngeomm
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2. Draw Histogram tn the following

frequency distribution, el
[Marksioses - 10 [10 20 3030 [30 40T 405030 o0
N, uf studvnty & 10 | 12 I 14 | 0 [ ] |
(g )
3 a) The interseuting puint of lwe agives 3 @) werd el s o
is called _ iy lgnlam  agmry o
B) Fix-xi- 3 il oe Ya-we i
4. Write a sheor note on relative measure 4. wa ibal e mealday o ety flg ¢
ul dispersion, eray dyclla g,
5. The meun and standard deviation of S i cuilerngyes G, g
" v el R gy rilny WrpRes Sgn
oy lf.fu.\-arcSDGandSn:spe\,h\-cly. Ml ettty saoead 3 ol 7mimsint
Find eoefficient of variation, IR,
8. 8) The menn of squared deviation 6. 8) zouys simse cymlwamages
o i GRS InEmE gy
from mean is called - (n -y i
b} The Standard Deviation of 5 wvalngs b) 5,5 5,5 5ag0m 5 WS

55 5and5is in Standand Deviation __ mgert (1)
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Score

Answer any six questions from 7 to 13,
Lach carries three scores. {le3=1H)

7. Draw g Pie diagram to he following data
on expenditure of a family,

Trem | Food | Education | Herit | LLiers
amoit | 12000 [ apoun v | e !

B. Asingle six sided die is rolled. What is the
probability of getling 2 or 57

9. Fill up the following table :

Seore
T mymad 13 weemyey 2aimesmgls
apemeEge O agERAmlT QETEoeaw) ),
1 .,npa nfme, [fcd=18)
Tl Ty ey g e
T ke T ar:"reﬁ.hr"erq. SO0
CURELE
e
mpe | 12000 | oo | soio | soor

Homoo medssion e &5 apdlarmomd 2
AR 5 TS L ey agie 7

9. moarp morialasgmm aigle ol flengs |

Data Mean Median Mode | Type of Skewness
et ﬂﬂﬂu}ﬂ GBJJJ!M Farlme 1 mia.‘ummimo
1 10 I T |
z | 8 1 & 3 | 4
3 I 14 | ST 5 | e M
I For a distribution 1 = 11, B= 14.75, 1.
B, = 3975 and p, = 142,31, Find 142,315
ceefficient of skewness and comment - ST et gl wil
o it
11, @y Probability of getting a head in 1. 1} any moemae sgoleTnof @ &5
LOEsing o Com 15 (1) = TR TLoRm i
b mam
by \‘m'!.l: dirwn I:].IE s.tf.rnplc space of syt
tnssing two coins simultaneowsly, (2) Ay [#4]
12. a) For open end classes which of the 12 8] g Scen geriEsEes oo
following messure is most sulahle ! S R RO 0
: e merl = 1
a) Mean ) Median H .‘T eyl ng T
) e b zaupEc
c} Mode d) G (1) o d) (M iy
Bl The average weight of 25 bows was

55 kgs. Later it was found thar the
weight of one boy was misread as
fik kgs instead of 50 kgs, Calewlate
the correct average. (21

: !ﬁhe
Lu;hg"rr“ﬁ"f:ﬂknﬁ r'r*m.ﬂ_hm*:d
mymoatl « 1rild saemm] sdiso
R W0 BT 2y
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Seore Score
13. Fill the blenks in the following table : 13, sk anorigag aodn nfl Jaegs
No. Pia) F(B) Flaand By | PlAorB)
1 |
1) 3 A
i} (.35 0.25 (LY
i) 0.30 I —— TR
Answerany five questions from 14 1019 14 syt 19 cusmoaypp @ RaETegRl agmolegs
Euch carries four scores, (Bxd=20) 5 agperi gamaeardns. 4 amped allme,
(5x4-20}

14. a) The represenutive parl of population
is called (1

b

—

Dhstinguish berween primury i
and seeondary data. (k1]

15 a} Classification besed on time is called

(13

by Preparc a suitable blunk able w
represent number  of students
studying in u school in three Sections
High School, Migher Sccondury
und Wocatiens! Higher Secondary
aceording 1w Boys and Girls, (3

16, ) The Arithmetic Mean end Geometric
Mean o 2 values are 10 and B
respeatively. Find Hurmonic Mean. (2)
by A student comes to school at 30 ke
and rerurms home at 25 ke in his
bieyele. Find the average spead of
his joumey 12)

TLORE ey,

i
umieant w5
RESTEARCTE (K]

prpTeElogng rududnea

REGYTTY, F SN 1

bl am ogiglas, S o

smusardoil, Bnicass zamel ok

il g 3 clamuwmgom
iy dled, mosadientt agmil

CLEEE "*;.:SQ-P BRE

iy, SR At 7

16, &) s allessss meenmofge do,

i moapsas 10

23
by aay ola) oy geeaa 30wl o)
zamiesy; Tep (it DO 02ie 2547
A et met wniussTiged 2o
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Seore

17. Find covariance between height and
weight of 7 students.

Seore

17, Toagfnppen SEmnrie 3
maadtflmpbird anoaTe:

]Hei;h[Lgmu):ms.] 16l | 157 [ L4
Vhgs. |6k [ 43

Weipht (s 1) 58

14z | 163 | 151
47 [F

18, The number of motor cytle aceident
cases reporied in @ hospital i Uagrributed
as follows. Find mean deviation from
median, Given mediun =41

1 AR TR kST
P At 3| mgeemT
mirilgyed. dndfariot ofrrga feiboudid
leETh TR

Age gy | 1020 [20-30] 3

No. of accidents | 10 14
e e il |

19, For a
=

group of 20 ftems Tx = 1452,
Yo = 144280 and mode = 63.7.
Oituin %arl Pearsen’s coctficient of

skewness.

Answer any Lwio questions from 200 22,
FEach carries 6 scores. {2x6=11)

30, Thraw a how plot o the fellowing data

8 7 10, 6, 4,

2,
The value in a serics which divides
the series into hulves s called hY]

by For the values &, 6, 4 and 3 prove
that AM = GM = TIM. ()

20 a)

22 b Lhe difference between highest and
lowest value in a data s called (1)
hy Find coefticient of variation o the
tollowing data. (&3]
32, 5.2, 48, 61, 42

mwlinmgﬂw@dwﬂn@
2 agEmeTElo PENTEER . b qergad
ame. [2x6=12)

20, moErs mHTT 6T ammerRchisd DUX plot

of (1
B, 6, 4 3 g i r-_“g,c.-.gu:vm;:‘l;;-‘,-'
AM = GM = HM agyr? e

il {5)
iy DrogEiee el afeings Guekla
rlEiyo OUEIogEE (U T
AT, AT

F5L 32 Suaristics 503



	1
	2
	4
	5

